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program mktable
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* o0 eo°nuonbOODbOO
do 1=0,90
x = 1 * degrad
y = sin(x)
write(*x,*) i,y
end do
end
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* reidai2-1.f
program rei2l
real x, y, h, Pi, a, b, £
integer N, j
parameter (Pi = 3.14159265)
parameter (a = 0.0, b = 2.0 * Pi)
read(*x,*) N
h=((Md-2a /N
do 100 j=O,N
x=a+ jx*xh
y = £f(x)
write(*,*) x, y
100 continue
end

real function f(x)

real x

f = sin(x) + sin(3.0 * x) + sin(5.0 * x)
end
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* reidai2-2.f
program rei22
real x, y, theta, h, Pi, a, b
integer N, j
parameter (Pi = 3.14159265, a = 0.0, b = 2.0 * Pi)
read(x,*) N
h=(({®-2a /N
do 100 j=0,N



=a+j*xh
x = 2.0 * cos(theta)
y = 3.0 * sin(theta)
write(*,*) x, y
100 continue
end
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